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QUESTION 1

The Sprint Backlog is owned by? 

A. The Scrum Master 

B. The Product Owner 

C. The Development Team 

D. The Scrum Master and Development Team 

Correct Answer: C 

 

QUESTION 2

What is an ideal size for a Scrum team? 

A. 13 

B. 4 

C. 7 

D. 10 

Correct Answer: C 

 

QUESTION 3

Which of the following statements best describes Product Backlog items? 

A. Undefined or poorly defined Product Backlog items should be placed on the Product Backlog with a low priority 

B. All Product Backlog items are the result of a(n) analysis, requirements and/or design phase(s). 

C. Undefined or poorly defined Product Backlog items should be kept out from the Product Backlog until sufficient detail
is known. 

D. Every Product Backlog item, whether low priority or high priority, should possess sufficient detail for the Team to
complete in a Sprint. 

Correct Answer: C 

 

QUESTION 4

Which of the following is reflected in a Sprint Burn down Chart? 

A. Team Members Name 
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B. Number of Product Backlog Items Completed 

C. Number of Tasks Remaining 

D. Work Hours Remaining 

Correct Answer: D 

 

QUESTION 5

Why does Scrum prevent Product Owners from changing Product Backlog items that are being worked on during the
Sprint? 

A. The development team cannot meet their Sprint commitment to complete work if requirements are changing 

B. A Sprint cycle is not enough time for senior management review and approve changes 

C. This forces Product Owners to focus on what is really important for the team to develop. 

D. The development team must be able to limit the Product Owner authority 

Correct Answer: C 
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